



On The Roots of Unity in Several Complex Neutrosophic Rings

¹Djamal Lhiani, ²Karla Zayood, ³Nader Mahmoud Taffach, ⁴Katy D.Ahmad

 ¹.Department Of Mathematics, University Of Blida 1, Blida, Algeria
 ² Online Islamic University, Department Of Science and Information Technology, Doha, Qatar
 ³.Faculty Of Science, Department Of Mathematics, Idleb University, Syria
 ⁴.Islamic University Of Gaza, Department Of Mathematics, Gaza, Palestine Co-lhanibest13@gmail.com

Abstract:

Roots of unity play a basic role in the theory of algebraic extensions of fields and rings. The aim of this paper is to obtain an algorithm to find all n-th roots of unity in five different kinds of neutrosophic complex rings, where many theorems and examples will be illustrated and suggested.

Keywords: Neutrosophic root of unity, refined neutrosophic unity, n-cyclic refined neutrosophic root of unity, complex neutrosophic number

1. Introduction and preliminaries

Neutrosophic algebraic structures are considered as generalizations of classical algebraic structures. The first defined neutrosophic algebraic structure is the neutrosophic ring which was defined and studied on a wide range by Smarandache et.al [1-11].

Laterally, many other neutrosophic algebraic structures were defined such as n-cyclic refined neutrosophic rings, neutrosophic matrices, and vector spaces [12-22].

Neutrosophic complex numbers were defined as novel generalizations of classical complex numbers, in a similar way of split-complex or weak fuzzy complex numbers [23-24].

One of the most classical interesting problems in classical algebra is the extending of fields and rings by complex roots of unity. From this point of view, we study for the first time the concept of neutrosophic roots of unity, where we obtain the classification of the roots of unity in five different neutrosophic rings. In addition, many examples will be discussed and presented.

We recall some basic concepts in neutrosophic algebra.

Definition:

Let $(\mathbb{R},+,\times)$ be a ring and I_k ; $1 \le k \le n$ be n sub-indeterminacies. We define $R_n(\mathbb{I})=\{a_0 + a_1I + \dots + a_nI_n; a_i \in R\}$ to be n-cyclic refined neutrosophic ring.

Operations on $R_n(I)$ are defined as:

$$\sum_{i=0}^{n} x_{i}I_{i} + \sum_{i=0}^{n} y_{i}I_{i}$$
$$= \sum_{i=0}^{n} (x_{i} + y_{i})I_{i}, \sum_{i=0}^{n} x_{i}I_{i}$$
$$\times \sum_{i=0}^{n} y_{i}I_{i} = \sum_{i,j=0}^{n} (x_{i} \times y_{j})I_{i}I_{j} = \sum_{i,j=0}^{n} (x_{i} \times y_{j})I_{(i+j \mod n)}$$

× is the multiplication on the ring R.

Definition:

Let $(R,+,\times)$ be a ring, $R(I) = \{a + bI : a, b \in R\}$ is called the neutrosophic ring where I is a neutrosophic element with condition $I^2 = I$.

Definition:

Let $(R,+,\times)$ be a ring, $(R(I_1,I_2),+,\times)$ is called a refined neutrosophic ring generated by R $,I_1,I_2$.

Definition:

Let $(\mathbb{R},+,\times)$ be a ring and I_k ; $1 \le k \le n$ be n indeterminacies. We define $R_n(\mathbb{I})=\{a_0 + a_1I + a_2I +$

 $\dots + a_n I_n$; $a_i \in R$ to be n-refined neutrosophic ring.

Main concepts

Let $C(I) = \{X + IY; I^2 = I; X, Y \in C\}$ be the complex neutrosophic ring. According to [21], we have:

$$(X + IY)^n = X^n + I[(X + Y)^n - X^n]$$

So that X + IY is an n-th root of unity if and only if $(X + IY)^n = 1$, hence $X^n = 1$, $(X + Y)^n = 1$ which is equivalent to X, X + Y are two classical roots of unity.

Theorem.

n-th roots of unity in the complex neutrosophic ring C(I) are:

$$U = \left\{ \alpha_j + \left(\alpha_t - \alpha_j\right)I; \ \alpha_j = e^{\frac{2\pi j}{n}i}, \alpha_t = e^{\frac{2\pi t}{n}i}; 1 \le j \le n, 1 \le t \le n \right\}$$

Proof.

According to the previous discussion X + IY is a neutrosophic n-th root of unity if and only if X, X + Y are two roots of unity, thus $X = \alpha_j = e^{\frac{2\pi j}{n}i}$; $1 \le j \le n, X + Y = \alpha_t = e^{\frac{2\pi t}{n}i}$; $1 \le t \le n$.

This implies that $X + IY = \alpha_i + (\alpha_t - \alpha_i)I$.

Theorem.

The set of n-th roots of unity in C(I) is a group under multiplication. Also $U \cong Z_n \times Z_n$. **Proof.**

$$\forall T_1 = (\alpha_j) + (\alpha_t - \alpha_j)I, T_2 = (\alpha_k) + (\alpha_s - \alpha_k)I; \ 1 \le k, s \le n, 1 \le j, t \le n$$

Then:

$$T_1 \cdot T_2 = \alpha_j \alpha_k + (\alpha_j \alpha_s - \alpha_j \alpha_k)I + (\alpha_k \alpha_t - \alpha_j \alpha_k)I + (\alpha_t \alpha_s - \alpha_t \alpha_k - \alpha_j \alpha_s + \alpha_j \alpha_k)I$$

$$T_1 \cdot T_2 = \alpha_j \alpha_k + (\alpha_t \alpha_s - \alpha_j \alpha_k)I = \alpha_l + (\alpha_m - \alpha_l)I \in U$$

Where α_l, α_m are two roots of unity.

On the other hand, we have α_i^{-1} , α_t^{-1} are two roots of unity.

So that we can put $T_3 = \alpha_j^{-1} + (\alpha_t^{-1} - \alpha_j^{-1})I \in U$.

$$T_{1} \cdot T_{3} = \alpha_{j} \alpha_{j}^{-1} + (\alpha_{j} \alpha_{t}^{-1} - \alpha_{j} \alpha_{j}^{-1} + \alpha_{t} \alpha_{j}^{-1} - \alpha_{j} \alpha_{j}^{-1} + \alpha_{t} \alpha_{t}^{-1} - \alpha_{t} \alpha_{j}^{-1} - \alpha_{j} \alpha_{t}^{-1} + \alpha_{j} \alpha_{j}^{-1})I$$

 $T_1.T_3 = 1 + (0)I = 1$, thus $T_3 = T_1^{-1} \in U$. This implies that U is a group under multiplication.

We define $f: U \to Z_n \times Z_n$ such that:

$$f(\alpha_j + (\alpha_t - \alpha_j)I) = (\alpha_j, \alpha_t)$$

f is well defined, that is because:

If
$$T_1 = \alpha_j + (\alpha_t - \alpha_j)I = T_2 = \alpha_k + (\alpha_s - \alpha_k)I$$
, then $\alpha_j = \alpha_k$, $\alpha_t = \alpha_s$, hence $f(T_1) = (\alpha_j, \alpha_t) = (\alpha_k, \alpha_s) = f(T_2)$

f is a group homomorphism, that is because:

$$T_1 \times T_2 = \alpha_j \alpha_k + (\alpha_t \alpha_s - \alpha_j \alpha_k) I$$

$$f(T_1 \times T_2) = (\alpha_j \alpha_k, \alpha_t \alpha_s) = (\alpha_j, \alpha_t) \times (\alpha_k, \alpha_s) = f(T_1) \times f(T_2).$$

It is clear that f is surjective. Also, f is injective that is because:

$$ker(f) = \left\{ \alpha_j + \left(\alpha_t - \alpha_j \right) I \in U; \ \left(\alpha_j, \alpha_t \right) = (1, 1) \right\} = \{1\}$$

Thus *f* is a group isomorphic, hence $U \cong Z_n \times Z_n$.

Refined neutrosophic roots of unity.

Let $C(I_1, I_2) = \{X + YI_1 + ZI_2; I_1I_2 = I_2I_1 = I_1, I_1^2 = I_1, I_2^2 = I_2, X, Y, Z \in C\}$ be the complex ring of refined neutrosophic numbers.

According to [], we have:

 $(X + YI_1 + ZI_2)^n = X^n + I_1[(X + Y + Z)^n - (X + Z)^n] + I_2[(X + Z)^n - X^n]$

So that $X + YI_1 + ZI_2$ is a refined neutrosophic n-th root of unity if and only if $(X + YI_1 + ZI_2)^n = 1$, thus $X^n = (X + Y + Z)^n = (X + Z)^n = 1$, i.e., X, X + Y + Z, X + Z are three classical roots of unity.

Theorem.

n-th roots of unity in the complex refined neutrosophic ring $C(I_1, I_2)$ are:

$$U = \left\{ \alpha_j + (\alpha_t - \alpha_k)I_1 + (\alpha_k - \alpha_j)I_2; \ \alpha_j = e^{\frac{2\pi j}{n}i}, \alpha_t = e^{\frac{2\pi t}{n}i}, \alpha_k = e^{\frac{2\pi k}{n}i}; 1 \le j, k, t \le n \right\}$$

Proof.

According to the previous discussion $X + YI_1 + ZI_2$ is a refined neutrosophic n-th root of unity if X, X + Y + Z, X + Z are three roots of unity, thus:

$$X = \alpha_j, X + Z = \alpha_k, X + Y + Z = \alpha_t \quad \text{where} \quad 1 \le j, k, t \le n \quad \text{and} \quad \alpha_j = e^{\frac{2\pi I}{n}i}, \alpha_t = e^{\frac{2\pi t}{n}i}, \alpha_k = e^{\frac{2\pi k}{n}i}, \text{thus:}$$

$$\begin{cases}
X = \alpha_j \\
Y = \alpha_t - \alpha_k, \text{ thus } X + YI_1 + ZI_2 = \alpha_j + (\alpha_t - \alpha_k)I_1 + (\alpha_k - \alpha_j)I_2. \\
Z = \alpha_k - \alpha_j
\end{cases}$$

Theorem.

Let *U* be the set of refined neutrosophic n-th roots of unity, then *U* is a group under multiplication with $U \cong Z_n \times Z_n \times Z_n$

Proof.

Let $T_1 = \alpha_j + (\alpha_t - \alpha_k)I_1 + (\alpha_k - \alpha_j)I_2$, $T_2 = \dot{\alpha}_j + (\dot{\alpha}_t - \dot{\alpha}_k)I_1 + (\dot{\alpha}_k - \dot{\alpha}_j)I_2$ be two element of U, then:

$$T_1 \times T_2 = \alpha_j \dot{\alpha}_j + (\alpha_j \dot{\alpha}_t - \alpha_j \dot{\alpha}_k) I_1 + (\alpha_j \dot{\alpha}_k - \alpha_j \dot{\alpha}_j) I_2 + (\dot{\alpha}_j \alpha_t - \dot{\alpha}_j \alpha_k) I_1 + (\alpha_t \dot{\alpha}_t - \alpha_t \dot{\alpha}_k - \alpha_k \dot{\alpha}_t + \alpha_k \dot{\alpha}_k) I_1 + (\alpha_t \dot{\alpha}_k - \alpha_t \dot{\alpha}_j - \alpha_k \dot{\alpha}_k + \alpha_k \dot{\alpha}_j) I_1 + (\dot{\alpha}_j \alpha_k - \dot{\alpha}_j \alpha_j) I_2 + (\dot{\alpha}_t \alpha_k - \dot{\alpha}_t \alpha_j - \dot{\alpha}_k \alpha_k + \dot{\alpha}_k \alpha_j) I_1 + (\alpha_k \dot{\alpha}_k - \alpha_k \dot{\alpha}_j - \alpha_j \dot{\alpha}_k + \alpha_j \dot{\alpha}_j) I_2$$

 $T_1 \times T_2 = \alpha_j \dot{\alpha}_j + (\alpha_t \dot{\alpha}_t - \alpha_k \dot{\alpha}_k) I_1 + (\alpha_k \dot{\alpha}_k - \alpha_j \dot{\alpha}_j) I_2 \in U.$

Also, $T_1^{-1} = \alpha_j^{-1} + (\alpha_t^{-1} - \alpha_j^{-1})I_1 + (\alpha_k^{-1} - \alpha_j^{-1})I_2$ is inverse of T_1 , so that (U, \times) is a group.

We define $f: U \to Z_n \times Z_n \times Z_n$ such that:

$$f[\alpha_j + (\alpha_t - \alpha_k)I_1 + (\alpha_k - \alpha_j)I_2] = (\alpha_j, \alpha_t, \alpha_k)$$

f is a well define one to one mapping.

f is a group homomorphism that is because:

$$f(T_1 \times T_2) = (\alpha_j \dot{\alpha}_j, \alpha_t \dot{\alpha}_t, \dot{\alpha}_k \alpha_k) = (\alpha_j, \alpha_t, \alpha_k) \times (\dot{\alpha}_j, \dot{\alpha}_t, \dot{\alpha}_k) = f(T_1) \times f(T_2)$$

So that $U \cong Z_n \times Z_n \times Z_n$.

2-cyclic refined neutrosophic ring.

Let $C_2(I) = \{X + YI_1 + ZI_2; I_1I_2 = I_2I_1 = I_1, I_1^2 = I_2, I_2^2 = I_2, X, Y, Z \in C\}$ be the 2-cyclic complex refined neutrosophic ring.

 $X + YI_1 + ZI_2$ is an n-th root of unity in $C_2(I)$ if and only if $(X + YI_1 + ZI_2)^n = 1$.

Firstly, we present a formula to find the n-th power of $X + YI_1 + ZI_2$.

Theorem.

Let $X + YI_1 + ZI_2 \in C_2(I)$, then,

$$T^{n} = X^{n} + \frac{1}{2}I_{1}[(X + Y + Z)^{n} - (X - Y + Z)^{n}] + \frac{1}{2}I_{2}[(X + Y + Z)^{n} + (X - Y + Z)^{n} - 2X^{n}]$$

Proof.

(known befor).

Theorem.

Let $X + YI_1 + ZI_2 \in C_2(I)$, then *T* is n-th root of unity if and only if X, X + Y + Z, X - Y + Zare three classical roots of unity.

Proof.

 $T^n = 1$ is equivalent to:

$$X^{n} + \frac{1}{2}I_{1}[(X + Y + Z)^{n} - (X - Y + Z)^{n}] + \frac{1}{2}I_{2}[(X + Y + Z)^{n} + (X - Y + Z)^{n} - 2X^{n}] = 1$$

thus:

$$\begin{cases} X^{n} = 1\\ (X + Y + Z)^{n} - (X - Y + Z)^{n} = 0\\ (X + Y + Z)^{n} + (X - Y + Z)^{n} - 2X^{n} = 0 \end{cases}$$

This implies that $X^n = (X + Y + Z)^n = (X - Y + Z)^n = 1$, this complete proof.

Theorem.

Let *U* be the set of all 2-cyclic n-th roots of unity, then:

1.
$$U = \left\{ \alpha_j + \frac{1}{2} I_1[\alpha_t - \alpha_k] + \frac{1}{2} I_2[\alpha_t + \alpha_k - 2\alpha_j]; \ \alpha_j = e^{\frac{2\pi j}{n}i}, \ \alpha_t = e^{\frac{2\pi t}{n}i}, \ \alpha_k = e^{\frac{2\pi k}{n}i}; \ 1 \le j, k, t \le n \right\}.$$

- 2. (U, x) is a group.
- 3. $U \cong Z_n \times Z_n \times Z_n$.

Proof.

1. Assume that $T = X + YI_1 + ZI_2$ is an n-th root of unity, then $X = \alpha_j, X + Y + Z = \alpha_t, X - Y + Z = \alpha_k$ with $1 \le j, k, t \le n$ so that $Y = \frac{1}{2}[\alpha_t - \alpha_k], Z = \frac{1}{2}[\alpha_t + \alpha_k] - \alpha_j$, hence:

$$T = \alpha_j + \frac{1}{2}I_1[\alpha_t - \alpha_k] + \frac{1}{2}I_2[\alpha_t + \alpha_k - 2\alpha_j]$$
2. Let $T_1 = \alpha_j + \frac{1}{2}I_1[\alpha_t - \alpha_k] + \frac{1}{2}I_2[\alpha_t + \alpha_k - 2\alpha_j], T_2 = \dot{\alpha}_j + \frac{1}{2}I_1[\dot{\alpha}_t - \dot{\alpha}_k] + \frac{1}{2}I_2[\dot{\alpha}_t + \dot{\alpha}_k - 2\dot{\alpha}_j]$

We have $T_1 \times T_2 = \alpha_j \dot{\alpha}_j + \frac{1}{2} I_1 [\alpha_t \dot{\alpha}_t - \alpha_k \dot{\alpha}_k] + \frac{1}{2} I_2 [\alpha_t \dot{\alpha}_t + \alpha_k \dot{\alpha}_k - 2\alpha_j \dot{\alpha}_j] \in U$ The inverse of T_1 is $T^{-1}{}_1 = \alpha_j{}^{-1} + \frac{1}{2} I_1 [\alpha_t{}^{-1} - \alpha_k{}^{-1}] + \frac{1}{2} I_2 [\alpha_t{}^{-1} + \alpha_k{}^{-1} - 2\alpha_j{}^{-1}] \in U$, so that (U, \times) is a group.

3. Define $f: U \to Z_n \times Z_n \times Z_n$ such that:

$$f\left[\alpha_j + \frac{1}{2}I_1[\alpha_t - \alpha_k] + \frac{1}{2}I_2[\alpha_t + \alpha_k - 2\alpha_j]\right] = (\alpha_j, \alpha_t, \alpha_k)$$

By a similar discussion of previous classification theorems, we get the proof.

Examples.

We find the 3-roots of unity in the neutrosophic complex ring C(I).

Djamal Lhiani, Karla Zayood, Nader Mahmoud Taffach, Katy D.Ahmad, On The Roots of Unity in Several Complex Neutrosophic Rings

In the classical case, we have three roots $\alpha_1 = 1, \alpha_2 = e^{\frac{2\pi}{3}i}, \alpha_3 = e^{\frac{4\pi}{4}i}$, thus the neutrosophic roots of unity are:

$$\{\alpha_1, \alpha_2, \alpha_3, \alpha_1 + (\alpha_2 - \alpha_1)I, \alpha_1 + (\alpha_3 - \alpha_1)I, \alpha_2 + (\alpha_1 - \alpha_2)I, \alpha_2 + (\alpha_3 - \alpha_2)I, \alpha_3 + (\alpha_1 - \alpha_3)I, \alpha_3 + (\alpha_2 - \alpha_3)I\}.$$

Example.

The 2-nd roots of unity in $C(I_1, I_2)$ are:

$$U = \{\alpha_1, \alpha_2, \alpha_1 + (\alpha_2 - \alpha_1)I_1, \alpha_1 + (\alpha_1 - \alpha_2)I_1 + (\alpha_2 - \alpha_1)I_2, \alpha_2 + (\alpha_1 - \alpha_2)I_2, \alpha_2 + (\alpha_2 - \alpha_1)I_1 + (\alpha_1 - \alpha_2)I_2, \alpha_1 + (\alpha_2 - \alpha_1)I_2, \alpha_2 + (\alpha_1 - \alpha_2)I_1\}; \alpha_1 = 1, \alpha_2$$

= -1

Thus

$$U = \{1, -1, 1 - 2I_1, 1 + 2I_1 - 2I_2, -1 + 2I_2, -1 - 2I_1 + 2I_2, 1 - 2I_2, -1 + 2I_1\}.$$

3- Refined and 4-Refined Neutrosophic roots Of Unity

Definition.

Let *C* be the complex field, the 3-refined neutrosophic complex ring is defined as follows:

$$C_3(I) = \{a + bI_1 + cI_2 + dI_3; a, b, c, d \in C\}, \text{ with } I_i \cdot I_j = I_{min(i,j)}, I_i^2 = I_i; 1 \le i \le 3.$$

The 4-refined neutrosophic complex ring is defined:

 $C_4(I) = \{a + bI_1 + cI_2 + dI_3 + eI_4; a, b, c, d, e \in C\}, \text{ with } I_i \cdot I_j = I_{min(i,j)}, I_i^2 = I_i; 1 \le i \le 4.$

Definition.

Let $X = x_0 + x_1I_1 + x_2I_2 + x_3I_3 \in C_3(I)$, then X is called the n-th root of unity if and only if $X^n = 1$.

X is called the 3-refined neutrosophic root of unity.

Definition.

Let $X = x_0 + x_1I_1 + x_2I_2 + x_3I_3 + x_4I_4 \in C_4(I)$, then X is called the n-th root of unity if and only if $X^n = 1$.

X is called the 4-refined neutrosophic root of unity.

Theorem.

Let
$$X = x_0 + x_1 I_1 + x_2 I_2 + x_3 I_3 \in C_3(I), n \in N$$
, then:
 $X^n = x_0^n + [(x_0 + x_1 + x_2 + x_3)^n - (x_0 + x_2 + x_3)^n]I_1 + [(x_0 + x_2 + x_3)^n - (x_0 + x_3)^n]I_2$
 $+ [(x_0 + x_3)^n - x_0^n]I_3$

For the proof see [].

Theorem.

Let $X = x_0 + x_1I_1 + x_2I_2 + x_3I_3 \in C_3(I)$, then X is a 3-refined neutrosophic root of unity if and only if $x_0, x_0 + x_3, x_0 + x_2 + x_3x_0 + x_1 + x_2 + x_3$ are roots of unity.

Proof.

 $X^n = 1 \Leftrightarrow x_0^n = 1, (x_0 + x_3)^n = 1, (x_0 + x_2 + x_3)^n = 1, (x_0 + x_1 + x_2 + x_3)^n = 1$, thus the proof is complete.

Now, we find the 3-refined neutrosophic roots of unity.

Let $U = \{\alpha_1, \alpha_2, ..., \alpha_n\}$ be the set of classical n-th roots of unity.

If *X* is 3-refined neutrosophic roots of unity, then $x_0 \in U, x_0 + x_3 \in U, x_0 + x_2 + x_3 \in U$, $x_0 + x_1 + x_2 + x_3 \in U$.

If $x_0 = \alpha_i, x_0 + x_3 = \alpha_j, x_0 + x_2 + x_3 = \alpha_t, x_0 + x_1 + x_2 + x_3 = \alpha_s$, where $i, j, t, s \in \{1, ..., n\}$, thus

 $x_0 = \alpha_i, x_3 = \alpha_j - \alpha_i, x_2 = \alpha_t - \alpha_j, x_1 = \alpha_s - \alpha_t.$

Remark.

For *n*, there exists n^4 root of unity in $C_3(I)$.

Example.

For n = 3, we have $U = \{1, \alpha_1, \alpha_2\}$, with $\alpha_1 = e^{i\frac{2\pi}{3}}, \alpha_2 = e^{i\frac{4\pi}{3}}$, hence the 3-refined neutrosophic cubic roots of unity are:

$$X = t_0 + (t_1 - t_2)I_1 + (t_2 - t_3)I_2 + (t_3 - t_0)I_3, \text{ where } t_i \in U.$$

We show some of them:

$$X = 1 + (\alpha_1 - \alpha_2)I_1 + (\alpha_2 - 1)I_2 + (1 - \alpha_2)I_3, \ (t_0 = 1, t_1 = \alpha_1, t_2 = \alpha_2, t_3 = \alpha_1).$$

$$Y = \alpha_2 + (\alpha_2 - \alpha_1)I_1 + (\alpha_2 - 1)I_2 + (1 - \alpha_2)I_3, \ (t_0 = \alpha_2, t_1 = \alpha_1, t_2 = \alpha_2, t_3 = 1).$$

And so on.

Remark.

Since (U,\times) is a group with order n(cyclic group), the corresponding set of 3-refined neutrosophic roots of unity is an abelian group with order n^4 .

Also, it is isomorphic to $U_n \times U_n \times U_n \times U_n$.

Theorem.

Let
$$X = x_0 + x_1I_1 + x_2I_2 + x_3I_3$$
, $Y = y_0 + y_1I_1 + y_2I_2 + y_3I_3 \in C_3(I)$, then:
 $X^Y = x_0^{y_0} + [(x_0 + x_1 + x_2 + x_3)^{y_0 + y_1 + y_2 + y_3} - (x_0 + x_2 + x_3)^{y_0 + y_2 + y_3}]I_1 + [(x_0 + x_2 + x_3)^{y_0 + y_2 + y_3} - (x_0 + x_3)^{y_0 + y_3}]I_2 + [(x_0 + x_3)^{y_0 + y_3} - x_0^{y_0}]I_3.$
Check [].

Definition.

We define the unity duplet (*X*, *Y*) as follows:

(X, Y) is a unity duplet if and only if $X^Y = 1$, where $X \in C_3(I), Y \in C_3(I)$.

Theorem.

Let (*X*, *Y*) be a unity duplet, this equivalents:

$$x_0^{y_0} = (x_0 + x_3)^{y_0 + y_3} = (x_0 + x_2 + x_3)^{y_0 + y_2 + y_3} = (x_0 + x_1 + x_2 + x_3)^{y_0 + y_1 + y_2 + y_3} = 1.$$

The proof is clear

The proof is clear.

Example.

Take
$$X = 1 + \left(e^{i\frac{2\pi}{3}} - i\right)I_1 + \left(i - e^{i\frac{\pi}{4}}\right)I_2 + \left(e^{i\frac{\pi}{4}} - 1\right)I_3, Y = 2 - I_1 - 4I_2 + 6I_3.$$

We have $X^{Y} = 1$, hence (X, Y) is a unity duplet.

Theorem.

Let
$$X = x_0 + x_1I_1 + x_2I_2 + x_3I_3 + x_4I_4 \in C_4(I), n \in N$$
, then:
 $X^n = x_0^n + [(x_0 + x_1 + x_2 + x_3 + x_4)^n - (x_0 + x_2 + x_3 + x_4)^n]I_1$
 $+ [(x_0 + x_2 + x_3 + x_4)^n - (x_0 + x_3 + x_4)^n]I_2$
 $+ [(x_0 + x_3 + x_4)^n - (x_0 + x_4)^n]I_3 + [(x_0 + x_4)^n - x_0^n]I_4$

Proof.

The proof can be checked easily by induction.

Theorem.

Let $X = x_0 + x_1I_1 + x_2I_2 + x_3I_3 + x_4I_4 \in C_4(I)$, then X is an n-th root of unity if and only if: $x_0, x_0 + x_4, x_0 + x_3 + x_4, x_0 + x_2 + x_3 + x_4, x_0 + x_1 + x_2 + x_3 + x_4$ are classical n-th roots of unity.

The proof is clear.

Remark.

If $U = \{\alpha_1, \alpha_2, ..., \alpha_n\}$ is the set of n-th roots of unity, the corresponding 4-refined neutrosophic roots of unity are:

 $\left\{ t_0 + t_1 I_1 + t_2 I_2 + t_3 I_3 + t_4 I_4; t_0 = \alpha_i, t_4 = \alpha_j - \alpha_i, t_3 = \alpha_k - \alpha_j, t_2 = \alpha_s - \alpha_k, t_1 = \alpha_l - \alpha_s \right\}$ where $k, j, i, s, l \in \{1, ..., n\}.$

Example.

For n = 4, we have $U = \{1, -1, i, -i\}$.

The 4-refined neutrosophic roots of unity for n = 4 are:

 $\{X = t_0 + t_1I_1 + t_2I_2 + t_3I_3 + t_4I_4\}, \text{ with } t_0 \in U, t_0 + t_4 \in U, t_0 + t_3 + t_4 \in U, t_0 + t_2 + t_3 + t_4 \in U, t_0 + t_1 + t_2 + t_3 + t_4 \in U.$ For example $X = i + (-2i)I_2 + (-1+i)I_3 + (1-i)I_4.$ $(t_0 = i, t_4 = 1 - i, t_3 = -1 + i, t_2 = -2i, t_1 = 0).$

Conclusion

In this paper, we have studied the roots of unity of five neutrosophic different kinds of rings, where the roots of unity in neutrosophic rings, refined neutrosophic rings, 3-refined, 4-refined neutrosophic rings, and 2-cyclic refined neutrosophic rings are obtained and classified as direct products of well known classical finite groups. Many related examples were presented and discussed to clarify the validity of our work.

References

[1] Abobala, M., "On Some Special Substructures of Neutrosophic Rings and Their Properties", International Journal of Neutrosophic Science", Vol. 4, pp. 72-81, 2020.

[2] Smarandache, F., and Abobala, M., "*n*-Refined neutrosophic Rings", International Journal of Neutrosophic Science, Vol.5 , pp. 83-90 , 2020.

[3] Abobala, M. (2020). *n*-Cyclic Refined Neutrosophic Algebraic Systems Of Sub-Indeterminacies, An Application To Rings and Modules, International Journal of Neutrosophic Science, Vol. 12, pp. 81-95.

[4] Adeleke, E.O., Agboola, A.A.A., and Smarandache, F., "Refined Neutrosophic Rings I", International Journal of Neutrosophic Science, Vol. 2(2), pp. 77-81. 2020.

[5] Celik, M., and Olgun, N., " An Introduction To Neutrosophic Real Banach And Hillbert Spaces", Galoitica Journal Of Mathematical Structures And Applications, 2022.

[6] Celik, M., and Olgun, N., " On The Classification Of Neutrosophic Complex Inner Product Spaces", Galoitica Journal Of Mathematical Structures And Applications, 2022.

[7] Abobala, M., "On Some Algebraic Properties of n-Refined Neutrosophic Elements and n-Refined Neutrosophic Linear Equations", Mathematical Problems in Engineering, Hindawi, 2021

[8] Agboola, A.A.A., Akinola, A.D., and Oyebola, O.Y., "Neutrosophic Rings I", International J.Mathcombin, Vol 4,pp 1-14. 2011

- [9] Abobala, M., "On The Characterization of Maximal and Minimal Ideals In Several Neutrosophic Rings", Neutrosophic sets and systems, Vol. 45, 2021.
- [10] Abobala, M., "A Study Of Nil Ideals and Kothe's Conjecture In Neutrosophic Rings", International Journal of Mathematics and Mathematical Sciences, hindawi, 2021
- [11] Abobala, M., "Neutrosophic Real Inner Product Spaces", Neutrosophic Sets and Systems, Vol. 43, 2021.

[12] Hatip, A., " On Intuitionistic Fuzzy Subgroups of (M-N) Type and Their Algebraic Properties", Galoitica Journal Of Mathematical Structures and Applications, Vol.4, 2023.

[13] Kandasamy, V.W.B., and Smarandache, F., "Some Neutrosophic Algebraic Structures and Neutrosophic N-Algebraic Structures", Hexis, Phonex, Arizona 2006.

[14] Celik, M., and Hatip, A., " On The Refined AH-Isometry And Its Applications In Refined Neutrosophic Surfaces", Galoitica Journal Of Mathematical Structures And Applications, 2022

[15] Merkepci, H., and Ahmad, K., " On The Conditions Of Imperfect Neutrosophic Duplets and Imperfect Neutrosophic Triplets", Galoitica Journal Of Mathematical Structures And Applications, Vol.2, 2022.

[16] Abobala, M., Ziena, B,M., Doewes, R., and Hussein, Z., "The Representation Of Refined Neutrosophic Matrices By Refined Neutrosophic Linear Functions", International Journal Of Neutrosophic Science, 2022.

[17] Ahmad, K., Thjeel, N., AbdulZahra, M., and Jaleel, R., " On The Classifiction of n-Refined Neutrosophic Rings And Its Applications In Matrix Computing Algorithms And Linear Systems", International Journal Of Neutrosophic Science, 2022.

[18] Hatip, A., "An Introduction To Weak Fuzzy Complex Numbers ", Galoitica Journal Of Mathematical Structures and Applications, Vol.3, 2023.

[19] Abobala, M., and Zeina, M.B., " A Study Of Neutrosophic Real Analysis By Using One Dimensional Geometric AH-Isometry", Galoitica Journal Of Mathematical Structures And Applications, Vol.3, 2023. [20] Khaldi, A., " A Study On Split-Complex Vector Spaces", Neoma Journal Of Mathematics and Computer Science, 2023.

[21] Ahmad, K., " On Some Split-Complex Diophantine Equations", Neoma Journal Of Mathematics and Computer Science, 2023.

[22]. Ali, R., " On The Weak Fuzzy Complex Inner Products On Weak Fuzzy Complex Vector Spaces", Neoma Journal Of Mathematics and Computer Science, 2023.

[23] Aswad, F, M., " A Study of Neutrosophic Complex Number and Applications", Neutrosophic Knowledge, Vol. 1, 2020.

[24] Smarandache, F., and Kandasamy, V.W.B., "Finite Neutrosophic Complex Numbers", Source: arXiv. 2011.

Received: December 20, 2022. Accepted: March 25, 2023